SPECIAL COUNCIL 20 FEBRUARY 2020

ITEM NO. 9

SETTING THE COUNCIL TAX FOR 2020/21

Responsible Cabinet Member – Councillor Charles Johnson, Resources Portfolio

Responsible Director – Paul Wildsmith, Managing Director

SUMMARY REPORT

Purpose of the Report

1. The Local Government Finance Act 1992, as amended (referred to as "the Act" in this report) requires the Council to calculate and set its council tax for 2020/21 before 11 March 2020.

Summary

- 2. The Localism Act 2011 made significant changes to the Act and requires the billing authority to calculate a Council Tax requirement for the year.
- 3. The budget recommended to Council by Cabinet on 11 February 2020 will result in Band D council tax of £1,565.56, if approved by Council. The Office of the Durham Police, Crime and Victims' Commissioner has set its Band D council tax for 2020/21 at £215.24. County Durham and Darlington Fire and Rescue Service is expected to set its Band D council tax for 2020/21 at £105.48. Therefore the recommended council tax for a Band D property will be £1,886.28 which is an overall increase of 3.96%. There will also be an additional council tax in any parish where a precept has been issued.
- 4. The Council has calculated that the Council Tax requirement is £52,357,909 which includes Parish Precepts of £178,909. The Council Tax requirement for the Council's own purposes for 2020/21 (excluding Parish Precepts) is therefore £52,179,000.

Recommendation

- 5. It is recommended that
 - (a) the following amounts be calculated by the Council for 2020/21 in accordance with sections 31 to 36 of the Act and relevant regulations:-

(i)	the aggregate of the amount which the Council estimates for the items set out in Section 31A(2) of the Act taking into account all precepts issued to it by Parish Councils, which is its expenditure	£216,772,909
(ii)	the aggregate of the amounts which the Council estimates for the items set out in Section 31A(3) of the Act, which is its income	£164,415,000
(iii)	the amount by which (i) exceeds (ii) calculated by the Council for the year in accordance with Section 31A(4) of the Act as its Council Tax Requirement	£52,357,909
(iv)	The amount at item 5(iii) above, divided by the council tax base in paragraph 13 below, calculated by the Council in accordance with Section 31B of the Act as the basic amount of its Council Tax for the year (including Parish Precepts)	£1,570.93
(v)	the aggregate of all special items (Parish Precepts) referred to in Section 34(1) of the Act as in the attached Appendix 1	£178,909
(vi)	the amount at $5(iv)$ above less the result given by dividing the amount at $5(v)$ above by the amount at paragraph 13 below, calculated by the Council in accordance with Section 34(2) of the Act as the basic amount of its Council Tax for the year for dwellings in those parts of its area to which no Parish Precept relates	£1,565.56
(vii)	That the basic council tax for 2020/21 calculated for dwellings in those areas that have parish precepts be as set out in Appendix 1 , column 5	
(viii)	That the Council, in accordance with Sections 30 and 36 of the Act, hereby sets the aggregate amounts shown in Appendix 2 as the amount of Council Tax for 2020/21 for each part of its area and for each of the categories of dwellings	

(b) It be noted that for the year 2020/21 The Office of the Durham Police, Crime and Victims' Commissioner has stated the following amounts in the precept issued to the Council, in accordance with Section 40 of the Act, for each of the categories of dwellings shown : -

	А	В	С	D	Е	F	G	Н
	£р							
Police Authority	143.49	167.41	191.32	215.24	263.07	310.90	358.73	430.48

(c) It be noted that for the year 2020/21 County Durham and Darlington Fire and Rescue Service has stated the following amounts in the precept issued to the Council, in accordance with Section 40 of the Act, for each of the categories of dwellings shown: -

	А	В	С	D	Е	F	G	Н
	£р	£р	£р	£р	£р	£р	£р	£р
Fire Authority	70.32	82.04	93.76	105.48	128.92	152.36	175.80	210.96

(d) The Council, in accordance with Section 30(2) of the Act hereby sets the amounts set out in **Appendix 3** as the amounts of council tax for 2020/21 for each of the categories of dwellings.

Reasons

6. The recommendations are supported to set the Council Tax for the Council's area in accordance with statutory requirements.

Paul Wildsmith Managing Director

Background Papers

- (i) Local Government Finance Settlement 2020/21
- (ii) Police Authority Precept notification.
- (iii) Fire Authority Precept notification.
- (iv) Parish Council Precept notifications.

Elizabeth Davison: Extension 5830

The report does not contain any Crime and Disorder implications
The report does not contain any proposals
relating to the health and well being of
residents
There are no carbon impact or climate change
implications in this report
There are no diversity implications in this report
All Wards are affected equally
All Groups are affected equally
This report must be considered by Council
This report must be considered by Council
The Council's Medium Term Financial Plan,
Budget and Council Tax require approval by
full Council
This report follows from the Corporate Plan and
Financial Plan and budget reports, which
specifically addresses key issues involved in
the Council's contribution to delivering the
Sustainable Community Strategy vision.
There are no efficiency implications in this
report
This report does not affect Looked After
Children and Care Leavers

MAIN REPORT

Information and Analysis

- 7. The Act, as amended by the Localism Act 2011, requires authorities to calculate their Council Tax requirement for the year. The Council tax requirement is equal to the Council's net budget requirement less Settlement Funding Assessment (Revenue Support Grant, Top Up Grant and General Government Grants) less any contribution to the Collection Fund in respect of any prior year's deficit or plus any contribution from the Collection Fund in respect of any prior year's surplus. The details of these calculations are set out in paragraph 5(i) to (iii) above.
- 8. The recommended basic council tax including Fire and Police Precepts for a Band D property is £1,886.28. There will also be an additional council tax in any parish where a precept has been issued.
- 9. Cabinet considered the draft Medium Term Financial Plan (MTFP) on 7 January 2020 and approved it for consultation. After public consultation and review by the relevant Scrutiny Committees, Cabinet considered the MTFP again on 11 February 2020.
- 10. The Council also has to determine the estimated surplus or deficit on its Collection Fund at 31st March 2020. The estimated surplus/deficit for the council tax is

shared between this Council, the Police Authority and the Fire Authority in proportion to the 2019/20 demands/precepts. It is estimated that there will be a deficit on the Collection Fund at 31st March 2020 of £482,000 of which Darlington's share is £400,000.

- 11. The Council has determined that its basic amount of Council Tax for 2020/21, excluding Parish Precepts, is not excessive in accordance with principles approved under Section 52ZB of the Act.
- 12. The Council's Council Tax Requirement (including Parish Precepts) for council tax purposes for 2020/21, as calculated in accordance with Section 31A(4) of the Act, is £52,357,909.

The Council Tax Calculations

Basic Council Tax

- The Council set its tax base at 33,329.3 at the meeting on 30 January 2020 along with the tax bases for various parish councils. These are shown in Appendix 1 (column 2).
- 14. The basic council tax must first be calculated by dividing the Council Tax requirement by the approved tax base as follows:-

 $\underline{\pounds 52,357,909}_{33,329.3} = \pounds 1,570.93$

15. From this figure parish precepts, which the Act refers to as special items, are deducted as follows:-

$$\frac{\pounds 178,909}{33,329.3} = \pounds 5.37$$

16. The basic council tax for those areas of the Borough Council where there are no special items is, therefore, £1,565.56 (£1,570.93 - £5.37). This also excludes the Police Authority and Fire Service precepts. It represents a 3.99% increase compared with the council tax in 2019/20. It was announced in the 2020/21 provisional local government finance settlement on 20 December, 2019 and it was confirmed in the final Local Government Finance Report 2020/21 on 6 February, 2020 that councils could increase their core council tax charge by up to 4% without the need for a referendum, inclusive of 2% for adult social care expenditure.

Parish Council Taxes

 The calculation of the additional tax for areas where special items apply, i.e. parish precepts, is based on the precepts submitted by each parish council and parish meeting divided by the tax base approved at the Council meeting on 30 January 2020. The Parish Council Precepts for 2020/21 are detailed in Appendix 1 and total £178,909. The council tax in relation to the parish precepts is shown in Appendix 1 (column 3). When added to the basic council tax, as calculated in paragraph 14, this provides the Billing Authority's basic council tax for each parish area (Appendix 1, column 5).

Billing Authority Council Tax

19. Section 30(1) of the Act requires a council tax to be set for each category of dwelling for its area. This is the Billing Authority's council tax for each parish area and the basic council tax for the rest of the authority's area, multiplied by the ratio of each band using the following: -

Band	А	В	С	D	Е	F	G	Н
Proportion	6/9	7/9	8/9	9/9	11/9	13/9	15/9	18/9

- 20. The council tax set will relate to band D which is 9/9 or 1. For other bands the above proportions will apply. For example, Band A properties will be charged 6/9 or two thirds of the Band D tax whilst band H will be charged double the Band D tax.
- 21. The Billing Authority's council taxes for each band of property are shown in **Appendix 2**.

Police and Fire Authority Council Taxes

22. The Office of the Durham Police, Crime and Victims' Commissioner is a separate body responsible for its own financial affairs. The Authority met on 06 February 2020 and set their precept at £7,173,799. This results in a Band D Council Tax of £215.24, a 4.87% increase from 2019/20 as shown below:-

	А	В	С	D	Е	F	G	Н
	£р							
Police Authority	143.49	167.41	191.32	215.24	263.07	310.90	358.73	430.48

23. County Durham and Darlington Fire and Rescue Service meet on 25 February 2020 and are expected to set their precept at £3,515,574.56. This will result in a Band D Council Tax of £105.48, a 1.91% increase from 2019/20.

	= =	_	-	D £ p	_	=	-	
Fire Authority	70.32	82.04	93.76	105.48	128.92	152.36	175.80	210.96

Overall Council Tax

24. The total council tax for each of the parish areas and the remaining area of the Borough is calculated by adding the charges for the Billing Authority to those of the Police Authority and the Fire and Rescue Service. The overall council tax for each category of dwelling in each parish area and the remaining areas of the Borough where there are no parish precepts is set out in **Appendix 3**. There is a 3.99% increase in the Billing Authority Council Tax next year, with changes in the amounts of some parish precepts. The Office of the Durham Police, Crime and Victims' Commissioner has increased its Council tax by 4.87% and the Fire and Rescue Service is expected to increase its Council Tax by 1.91%.

Consultation

25. The content of this report was not subject to consultation. Extensive consultation has, however, taken place with a wide range of stakeholders, during which all households in the Borough have had the opportunity to comment, in preparing the Corporate Plan and Medium Term Financial Plan. The outcomes of consultation are included in those plans.

	Precept payable to Parish Council	Parish Tax Base	Parish Council Tax	Basic Council Tax	Billing Authority's Council Tax
	(1)	(2)	(3)	(4)	(5)
	£		£ p	£p	£ p
Bishopton	7,868	172.90	45.51	1,565.56	1,611.07
Heighington	20,270	956.70	21.19	1,565.56	1,586.75
High Coniscliffe	4,000	110.10	36.33	1,565.56	1,601.89
Hurworth	59,000	1,273.00	46.35	1,565.56	1,611.91
Low Coniscliffe / Merrybent	12,600	308.10	40.90	1,565.56	1,606.46
Middleton St. George	46,086	1,876.10	24.56	1,565.56	1,590.12
Neasham	8,034	245.10	32.78	1,565.56	1,598.34
Piercebridge	1,512	64.80	23.33	1,565.56	1,588.89
Sadberge	14,000	282.40	49.58	1,565.56	1,615.14
Whessoe	5,539	540.30	10.25	1,565.56	1,575.81
	178,909	5,829.50			

COUNCIL TAX FOR PARISH AUTHORITIES 2020/21

BILLING AUTHORITY'S COUNCIL TAXES FOR EACH PROPERTY BAND 2020/21

	А	В	С	D	Е	F	G	Н
	£ p	£ p	£ p	£ p	£ p	£p	£ p	£ p
Bishopton	1,074.05	1,253.06	1,432.06	1,611.07	1,969.08	2,327.10	2,685.12	3,222.14
Heighington	1,074.03	1,233.00	1,410.45	1,586.75	1,939.36	2,291.97	2,644.59	3,173.50
High Coniscliffe	1,067.93	1,245.92	1,423.90	1,601.89	1,957.86	2,313.84	2,669.82	3,203.78
Hurworth	1,074.61	1,253.71	1,432.81	1,611.91	1,970.11	2,328.31	2,686.52	3,223.82
Low Coniscliffe /								
Merrybent	1,070.98	1,249.47	1,427.97	1,606.46	1,963.45	2,320.44	2,677.44	3,212.92
Middleton St. George	1,060.08	1,236.76	1,413.44	1,590.12	1,943.48	2,296.84	2,650.20	3,180.24
Neasham	1,065.56	1,243.16	1,420.75	1,598.34	1,953.52	2,308.71	2,663.90	3,196.68
Piercebridge	1,059.26	1,235.81	1,412.35	1,588.89	1,941.97	2,295.06	2,648.15	3,177.78
Sadberge	1,076.76	1,256.22	1,435.68	1,615.14	1,974.06	2,332.98	2,691.90	3,230.28
Whessoe	1,050.54	1,225.63	1,400.72	1,575.81	1,925.99	2,276.17	2,626.35	3,151.62
All other parts of the								
Council's area	1,043.71	1,217.66	1,391.61	1,565.56	1,913.46	2,261.36	2,609.27	3,131.12
1								

APPENDIX 3

	А	В	С	D	E	F	G	Н
	£p							
Bishopton	1,287.86	1,502.51	1,717.14	1,931.79	2,361.07	2,790.36	3,219.65	3,863.58
Heighington	1,271.65	1,483.59	1,695.53	1,907.47	2,331.35	2,755.23	3,179.12	3,814.94
High Coniscliffe	1,281.74	1,495.37	1,708.98	1,922.61	2,349.85	2,777.10	3,204.35	3,845.22
Hurworth	1,288.42	1,503.16	1,717.89	1,932.63	2,362.10	2,791.57	3,221.05	3,865.26
Low Coniscliffe /								
Merrybent	1,284.79	1,498.92	1,713.05	1,927.18	2,355.44	2,783.70	3,211.97	3,854.36
Middleton St. George	1,273.89	1,486.21	1,698.52	1,910.84	2,335.47	2,760.10	3,184.73	3,821.68
Neasham	1,279.37	1,492.61	1,705.83	1,919.06	2,345.51	2,771.97	3,198.43	3,838.12
Piercebridge	1,273.07	1,485.26	1,697.43	1,909.61	2,333.96	2,758.32	3,182.68	3,819.22
Sadberge	1,290.57	1,505.67	1,720.76	1,935.86	2,366.05	2,796.24	3,226.43	3,871.72
Whessoe	1,264.35	1,475.08	1,685.80	1,896.53	2,317.98	2,739.43	3,160.88	3,793.06
All other parts of the								
Council's area	1,257.52	1,467.11	1,676.69	1,886.28	2,305.45	2,724.62	3,143.80	3,772.56

OVERALL COUNCIL TAX FOR EACH PROPERTY BAND 2020/21